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5°=16 & logs®=logl6 <« zlog5=1loglé < =z =780 =17227

ol-z — 3 & 10g21_x=1033 & (1-2z)log2=log3 <« 1—.1::}—2—5—% =

3¢=10 & =8 & z=mh(})~=12040

el =2 & l1-4z=I2 & -~4dz=-1+Ih2 & z=122=00767

4437 =8 & 39%=4 & log3®=logd <« S5zlog3=logd < 5z= &

logd .
& o= % ~0252

84 =5 &  Jog84 =logh <« Odzlog8=logh <& 04z=1E o

log8
_ _log5
T = G logs 1.9349

57710 =2 & logh W =1log2 & —Flogh=1Ilog2 &

7= — 1082 ~ —43.0677

e =200 & 220+1=mh200 & 20=-1+mh200 & z==1020~297492
52 = 47t &  logh® =logd®™! <& <zlogh=(z+1)logd =zxlogd+logd <&

zlogh —zlogd =logd <& :c(log5——log4)=log4‘ & w:ﬁé’f‘_ﬁmmﬁ.m%

232+l = 3772 & 1og2¥%tl =1log3*? & (3z+1)log2 = (z—2)log3 <«
3zlog2 +1log2 = xlog3 —2log3 <« 3zlog2— zlogd = —log2 —2log3 &

z(3log2 —log3) = —(log2 +2log3) & s=—EtAEl ~ —2.9469

e =4 & 5B0=4+4e" & 46=4e" & 1l5=e" & Inllb=-z
& z=-Inll.5~ —-2.4423
100(1.04)% =300 <« 1.04%=3 & logl.0d% =log3 < 2tlogl.04=1log3 <«

t = il ~ 14.0055



